887212 D'YyTI DN
nvn Ly T
Yovun /a2 Tym

PON2 MORYN Yy2IXR TINN vibw Sy (9507702 MTip3 40) ‘N PHNI MONYD wHn Tinn YaIN by ny
(Mmpy 60) 2
SN DYDYV NN TYn

N9 NNY DL MY MYV NY AN MOYNYN 951 .(NYRYO MNPy 10) MONY YaIN Dy 1y /R P
INDNT P2 NAVNI NPNR NITINN DY NN .YINI MNP NPNMY PV ARDND PNV 1T RONT
PN DY L ONTND .Y PO MNOY OINN INT ;.. 0N0 DX IN2Y 22WND ¥ YUK N XN MnoY onn 9’ myovd
SNOTRD IN "DAN YPONN 1Y PN 2D MNOY DIND XN NN MY 290N KD YN N NDIN M 339 5.9 PPN PYUNA
JTON %1 1D PRY NN SUNT 1IN

Jab = 0 X, R >2001mMP R N2 DON POYNN b 1) a OR” 990 .1

MUNT 1900 NN Z[V2] 72 MR AN 93 9v N(a + by/—2) = a® + 2b% nnann” s7hen .2
JPWNA R[x] D) N pYUNY DINN R OR” 7990 .3

JAC ~BD W ,C~DVA~B-vwimon A B,C,D € M,(Z) oX” :7990 .4

W, f(x) =2 (mod 1) v I = Ra 0 # a= f(0) ,R nm5v 0NN Syn owa f(z) oN” 1490 .5
VR Oyn 99w f

(NoNWY MMPy 20) MORY vidw Sy DY /2 pon

R 59 90 R ¢7H(I) v noin 50N 1S 11,000 SY ovemmin ¢ R—S o () .6

NN ¢ L(T) w pnwna T o (3)

290p0 R ¢ (1) ~w 75 ,Qx] Sv T 9mopn SN ¢ : Zlz]—Qlx] orammimn D ()
R = Z[VD] 03 .p mMWKI 0 DY 071 DM K9S 1900 D € Z o .7

D MM DY DIAXR R "2 PRIN PNUNIVIR [D| YD <0 DX i (N)

Ap 9 oy ©9AN R "2 PROIN,p TN oy AR PR FD/p or i

LR 997N p NN PYDa DONINN TAN O7PNn DN (2)

(p-(D/p) =D -+v/D :no31n) PR MmpX1s oINN DR R M nIpna ()
TR MPXIS DINN DY DP9 DY N21DN TN (R) .8

y =2 0990 Q[y] Syn = =32 0991 22(y? — y) + 2xy(y + 1) + y? Sv 191NN NN Nn ()

Q[z] 5yn
(fg) =1w,e(f) =clg) =1 or o0 ()
0 0 60
mMMNINT Pr1Pan NN Awn .09V 1901 NI ¢ IR A = 2 5t NNIVNN NN .9
-5 =5 60

|G/3G| N N .AMANN ATO DX Yap) Lt W Mwar Ty 95 May G = Z3/AZ3 Sv nrops
£ =28,9,10 9wNd



